B HR:
Fill in the blanks:
bR NN 7 % £ = S
7 9
-+ 3 6 9
+ 2 5 ~
9 6 9
_ 7 2 e
_ 1 9 5
(a) 6 + 2 =
(b) 2 + 6 =
+1 -2
15 —_— —_—

15-1
A

+ 3



Huang2014
图章

WHuang
Typewriter
15-1

Huang2014
线条

Huang2014
图章

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Typewriter
Fill in the blanks:
填入正确数字：

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

Huang2014-PC
Stamp

WHuang
Stamp

WHuang
Stamp

WHuang
Stamp

WHuang
Stamp

WHuang
Stamp




